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A & 0l & AF 2 E A A
20198 = =0l 4 Lursld
AT EAHE D
BH: CADIY R (RELNAML /X AL E A
Sl CAIZEIE &g (sl @
x 5 . ol & SRSV PN -
SN B (SH) - NRAY - BES (ZE o) = HiRE2
S ALH = B 11,253,209 12,168,167 A 914,958
s 1,597,000
= 147,000
Al 9,509,209
SADIE ZE(ZELXNGML/NALZ Al 4,086,223 5,221,902 A 1,135,679
= 50,000
Al 4,036,223
S A2 HE =8 219,880 1,042,496 A 822,616
SN AHE=EHEA 19,880 1,025,496 A 1,005,616
201  LEr2gH 15,680 21,280 25,600
01 ARl 15,680 21,280 25,600
= 0fl & 15,680 21,280 A5,600
SAHESAES 2Fag
70,0003 *32H 73] 15,680
202 OdHl 4,200 4,216 A 16
01 =3LHAHI 4,200 4,216 A16
= Ofl & 4,200 4,216 A16
OBOHAIY ¥ NG 7 0fb|
150,000& »4H 73] 4,200
SAZEHEESHIA(PIS) HI ALY 200,000 0 200,000
401 AEHIZSRUHI 200,000 0 200,000
01 Al&Hl 200,000 0 200,000
= Off &F 200,000 0 200,000
OS AT BHA (UPIS) B3t S
200,000,000 =14 200,000
220 E 211,660 94,500 117,160
SANZ2EESAE 211,660 94,500 117,160
201 et 4,540 4,540 0
01 AtR2eldl 4,540 4,540 0
= 0fl & 4,540 4,540 0
OgBt==2H| 3,000
~HelHE T BIINR MBI M
100, 000& 205 2,000
~ 2B AN 228 2ABY A
200& x5,000% 1,000
oYy 1,540
—-2ZA 2R 39 HHLg
70,0003 11 %23 1,540
202 04| 1,120 960 160




SA: SAHED
Mo CAJY ZA(RELTNAWL/TNALCA)
el ARl

x 5 . Ofl & 04 ¢ & 0 A -
SN-FHY S (3) - MRAY - BYS = o = HRz2
01 LAY 1,120 960 160
= Ofl &F 1,120 960 160
O=UWo0dl 1,120
—zeZ@MS) Y98 A.SLYN &
A ol 32,000 x35H 13| 1,120
401 AEHIZE=ROYI 206,000 89,000 117,000
01 Al&dl 206,000 89,000 117,000
= 0fl & 206,000 89,000 117,000
OZztzatd 32 Al 6,000,000 » 14! 6,000
O=ZA 22 001N 2% Z8E &7
200,000,000& =14 200,000
SAAHEAE 481,000 618,000 A 137,000
EEHEREX & |X2e 160,000 393,000 A 233,000
201 et 30,000 30,000 0
02 =29l 30,000 30,000 0
= Off & 30,000 30,000 0
OHSHHRN YURY ®IIR3
2,500,000& x12& 30,000
401 AMEHIZ RO 130,000 363,000 A 233,000
01 Al&HI 130,000 363,000 A 233,000
= 0fl & 130,000 363,000 A 233,000
OBSHHSX YYBA X 2el(L=6.2n
, A=173,000m") 100,000, 000& 14 100,000
OSSZUYIA HAU 45 L BEX
TH (R0 30,000,000 » 14l 30,000
SAHEANE(Z2)AE S 28 EXNZ A 321,000 200,000 121,000
401 AEHIZ=ROYI 321,000 200,000 121,000
01 A&l 321,000 200,000 121,000
= Ofl & 321,000 200,000 121,000
OZANHEAE AYS 98 EX 24t
321,000,000& =14 321,000
t2s & 3&xg &1 3,172,783 3,466,062 A 293,279
& 50,000
Al 3,122,783
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& 50,000
Al 2,650,535
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168,000 * 122 2,016
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O= & 2,560
—JIRE 2otS oI Hel ¥ oft =&
S A 8,000 43«80 2,560
02 22=29H| 1,894,564 2,121,595 A 227,031
=0l At 1,894,564 2,121,595 A 227,031
O=222= 2 HA 1,785,564
—JIR2S ¥ gos MIe2
137,757,000 x 128 1,653,084
-3 ®Ie3 8,400,0002 x 128 100, 800
— RYUAA SUSAAY 2 EAH|
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10,000,000 23] 20,000
— U SHZ(300kw) HIIAIE X4
7,500,000 23| 15,000
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S Xl 5,000,000% 23] 10,000
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100, 0002 *30070 A 30,000
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300,000 *307H A 9,000
202 04l 1,800 1,898 A 98
01 2ot 1,800 1,898 08
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305 BHAZS 1,000 1,000 0
01 Ha3ES 1,000 1,000 0
= 0l & 1,000 1,000 0
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&3 1,000,0008! *14} 1,000
401 AN&HIL R 771,000 830,000 59,000
= 50,000
Al 721,000
01 A&l 771,000 830,000 59,000
= 50,000
Al 721,000
=004 771,000 830,000 59,000
= 50,000
Al 721,000
O U T2XY AL Hzwe o
HZ (S I/ G2 AFE120,000,000% 14l 120,000
OJZS Bz B4T AR
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OB2 PUS A5 I HE AY)
1,200, 000! *304 36,000
OJ2S U oS 22 24
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201 eI 334,312 311,022 23,290
02 =2=29Hl 334,312 310,392 23,920
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— &Y dIIe3 16,008,300& 12& 192,100
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80,0003 *90JH 7,200
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OFCV A0l E 7,236@ *1,000m 7,236
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01 2LHofY 900 844 56
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O Mz 22 29 39 #4(& -5
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as 1,597,000
= 97,000
Al 1,067,609
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ozl 2,304
—BAEO YLEN ST KA
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=0 4 3,600 3,600 0
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Fag 33,099
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Al 4,890
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= ALHE 3
CA ZENL(SLDNS/E2)

el SAFLR RS (o2&
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= 24,824
= 1,508
Al 3,668
O =02 MEOSAMY ASAE (02,
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= 8,275
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Al 1,222
401 A&HIZ=R0UI 1,123,512 1,003,000 120,512
s 965,647
& 58,651
Al 99,214
01 Al&HI 1,120,478 1,003,000 117,478
s 965,647
= 58,651
Al 96, 180
= 0fl & 1,120,478 1,003,000 117,478
fas 965,647
= 58,651
Al 96, 180
O=sds =02 MSOSAMY
1,120,478,000& 14 1,120,478
s 965,647
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Al 96,180
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= 0fl &F 3,034 0 3,034
O=Ys =02 ME0S Mg
1,123,512,000& *0.27% 3,034
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Al 85,473
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Al 85,473
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Al 61,629
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Fag 161,355
= 9,801
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MEES(ZAHEN)(=SLDNE/=2) 4,312,021 4,432,021 A 120,000
BEXNS(ZAIAHE ) 4,312,021 4,432,021 A 120,000
HEAN~HAEHDIEZ2E T2 E B At 4,312,021 4,432,021 A 120,000
311 X 20| AHA & 312,021 432,021 A 120,000
01 Al - & - FREMHLIS XL 20| XHaks 312,021 432,021 A 120,000
= 0l & 312,021 432,021 A 120,000
OdEA~HAHOIEZ2Z T2 2AF X2 0]
Xk 10,400,700,000& *3% 312,021
601 U2 AE 4,000,000 4,000,000 0
01 Al -2 FRANYENLISUHLSASAE 4,000,000 4,000,000 0
= Ol & 4,000,000 4,000,000 0
OZEAN~HAHOIEZ T E2ESAF L2 &
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JI2ZHI (S AIHE D) 93,356 89,639 3,717
201 282 A | 32,006 30,802 1,204
01 ArE2t2lbl 32,006 30,802 1,204
= 0l & 32,006 30,802 1,204
OgEtx=ZH| 23,558
—Jl2 MRE3HI 100, 000& x22%H 2,200
— Z2AIE X 23,000& x208f A x12& 5,520
— 2A EHFY 150,000 x1CH 63 x45 3,600
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~NSA HABE 7Y 150,002 %13 150
SELT 8,448
AN YREA 2044
8,000& 22 x4 x12& 8,448
202 Ol 54,600 52,087 2,513
01 2L b 54,600 52,087 2,513
= 0l & 54,600 52,087 2,513
OZAAHEDN SRFX ZUHOAHI
20,000& 22 x103| x12& 52,800
OS oAl & ZHIXNJE 2 =X
150, 000& *3Y x4 3] 1,800
203 Y= 6,750 6,750 0
01 JIA2SYLR=AH| 2,970 2,970 0
= Ol & 2,970 2,970 0
Ot ZAIAE= 3,300,000& *90% 2,970
04 EANASILRF=AHI 3,780 3,780 0
= 0l & 3,780 3,780 0
OZ Al A& 350, 000& =122 *90% 3,780




